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- PAVEMENT MARKING - LETTERS AND SYMBOLS

- PAVEMENT MARKING - LINE 12" SOLID - YELLOW

- PAVEMENT MARKING - LINE 12" SOLID - WHITE

- PAVEMENT MARKING - LINE 8" SOLID - YELLOW

- PAVEMENT MARKING - LINE 8" SOLID - WHITE

- PAVEMENT MARKING - LINE 6" SOLID - WHITE

- PAVEMENT MARKING - LINE 6" DOTTED - WHITE
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PLAN VIEW

US 136 / IL 336 & TR 198 / 2200E

US 136 / IL 336

US 136 / IL 336

PLAN VIEW

US 136 / IL 336 & TR 222 / 2300E

US 136 / IL 336

US 136 / IL 336

AT 10.0’ CENTERS UNLESS OTHERWISE NOTED.

ALL 12 INCH DIAGONALS AND CHEVRONS SPACED2.

MODIFIED URETHANE UNLESS OTHERWISE NOTED.

ALL PAVEMENT MARKING SHALL BE1.

NOTES: 

AT 10.0’ CENTERS UNLESS OTHERWISE NOTED.

ALL 12 INCH DIAGONALS AND CHEVRONS SPACED2.

MODIFIED URETHANE UNLESS OTHERWISE NOTED.

ALL PAVEMENT MARKING SHALL BE1.
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